ma —mb + me & N 227
® m(a+b+c) @ m(a-b-c) ® m(a—b+c)

@ ma(l-b+c) ® ma+b-c)



22 A5l FAE o]gste] 1117 - 1102 o gk ote 1A
ot S, b, c A Fa+b+c o FE A5HH?

1112 21102 = (111 4+ a) (111 - b) =

@D 110 ® 221 ® 321 @ 421 ® 441



O V5+ V3
@ V15433

@ 5+ V10
® V15 +4+3

® Vi0+ V3




e

4. (2x-17-(x+2)*2 ALENSIA (3x +a) (x + b) 7} HTHLL S},
™

1
ol W, a-b°] = F5HH?

D -1 @ 3 ® 0 @ 2 ® 4



5. (3x-2)°-(2x+3)" = (Ax+ 1) (x+ B) L W, A+ B ] F& 73t
ot

W EAa+E=



X(x4+1)(x+2)(x+3)+1 & A5E3] 5h=
Aol &7 2 A7

x(x+1)(x+2)(x+3)+1
=x(O)x (x+1)(@)+1

= (x> +3x)(®) +1

(@) = Azt st

A2 424 +1=(A+1)2=(®)?

® x+3 @ x+2

@ x2+3 B x24+3x+1

® x2+3x+2



7. x*-9+xy-3y & A5Ea5IH?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-y) @ (x=-3)(x+3+Yy)

® (x+3)(x=-3+y)



8.

the Bl 9] A4 Ra B &, Ol o1 § 8 B
go} el 2 AA L A

al

A7

+2xy+y’-1
AR <
=(z+y+1)(x+ y—l)j©

H7]

H 710 A

=7
7}’)61 +2ab+b2 (a+ b)?
) a? = (a+b)(a-D)
) +(a+b)x+abf( a)(x+b)
)

(
(
(oh) «2
(2H acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

@ (7h), (1) @ (), (°h
@ (1), (7H ® (71, (D



9. x=-14+ V24 o, »2+2x+ 19 G F5}oiz}.

S ER
=%



10. o2 5 3x%)% - 2x%y? 9] QI

EXl
@ x © xy
© 2x+3y ® —2x+3y
@ xy(-2x+ 3y) @ xy® (3x-2y)

B =

D EE



11, (x+y)(x+y-1)-20 & HI2A] QB3 2429

@ (x+y-5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)

® (x—y-5)(x—y+4)



ot x2(y + 4)% + 2x(y + 4) - 8 =

C

x+D) g W, A+B+C+D 9 32 3t



13.

8-Ta(a-2)+a*(a-2)>=(a+A)(a+B)(a+C)(a+D) 2L
S, A+B+ C+D E stofeh

Y
=¥



14.

ab +5a—-4b-30 = 0
(F,a>0,b>0)

DO ERE



15. 4] (x— 1)~ 9y & A%-Hafsin?

@ (x+3y-1)(x-3y+1) @ (x+3y+1)(x-3y-1)
@ (x+3y-1)(x-3y-1) @ (x+3y-1)(x+3y-1)

® (x+3y+1)(x-3y-1)



16.

o) & Fofolet

Bein-



17, dxy-2x-2y+1 2= JA5EMNHH (ax+b) (cy+d) ™, a+b+c+d
o] gh= oY

@D 0 @ 2 3 3 @ 4 B 6






19.

X% —dxy + 4% - 22 2 QleEalot=t AHSH <
)

TE2H? (Fa>0,b>0

® a®+ 2ab+ b* = (a + b)?
@ a* -2ab + b* = (a - b)?
® a*-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + bc)x + bd = (ax + b)(cx + d)



20.

abc +ab+ac+a+bc+b+c+1

@ (a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
® (@a+1)(b+1)(c+1) @ (a-1)(b+1)(c-1)
® (a-1)(b-1)(c-1)




